Risk Assessment

Step1. 
Using the matrix carry out an initial assessment to determine the risk rating of hazard(s) of the work activity. NB. This is without any control measures.
Step 2.

Using the matrix results from step1 if the risk rating is High (H) then the hazard must be eliminated or work activity prohibited and an alternative method found. If the risk rating is Medium (M) then safety control measures are required to bring the rating into Low (L) category, work activity can then proceed.

	1) Location of Confined Space:

	Unsure 

	2) Description of Task:

	Handing out materials and speaking to interested delegates about who we are and what we do 

	3) Persons at Risk:

	Caroline Holmes (A-A) and delegates 

	
	
	Probability of Occurrence

Likelihood of Accident Occurring

	Consequence of Occurrence

Severity of Personal Injury
	
	Very Unlikely to Occur
	Likely to Occur
	Highly Likely to Occur

	
	Minor Injury
	1 =L
	2 = L
	3 = M

	
	Serious Injury
	2 = L
	4 = M
	6 = H

	
	Major Injury
	3 = M
	6 = H
	9 = H


	
	Without Controls
	With Controls

	4) Hazards:
	High
	Medium
	Low
	Low
	Control Nos. needed:

	Trip hazard 
	
	
	
	x
	1 = L

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	 
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	5) Control Measures in place to reduce risk:

	1. Ensure the area around the stand is kept clear at all times.  

	2. 

	3. 

	4. 

	5. 

	6. 

	7. 

	8. 

	9. 

	10. 


	6) Occupational Health Hazards:

	

	7) Related Documents:

	

	Name: 

(Print)
	Signature:
	Date:



